| B \ VAR S § SN L@ B Y

Exercioe = A0(B)  Mathe 5w

Surcyo. NorayarHohanty Qiii\;:“

_4:4_5\/@1@@4 B

&

Vi
il —b;%_bij(:) b = 11}(,_ 6)/ 1‘6/>/

b - (46 ig—b)\il(%‘}, A gy)_vi |

2100 t(Un-3n-By
’:‘1‘10H .#n "51’]

=10 ~L

(b 6b)-(8b 44p)
-~ =9h-MBb- 3




L
7 N >
e) Dat
{0~/ FPa
A
N e ——

i} 8% (8 x=h )= (FX=X) - |
=] %x;t,ﬁ_ﬁg,é)i T g
= 6)& -6x :

XY a- (a-h-c) | i
=la-a+hyC - Lo o 4 -
= b(C } il

X} 62 4 (93 —@) -0a - p) il
= 603 + R -2+ hg

X3 = %+ - én) T
M- Am —-an + bn - _
=ll=m 4 Un ) -

XiD) =M= =(=p) —M - )
_l=M-n4M-M .

S s I *_;‘,“ S .
XX *y = (x£y=x>
= L‘F}/‘— (% £y e T
: ;I X + \// "X _M\\ N B / a
|

” " o ///l._,h




R AR -

B "‘a C&aw‘%}aa)‘ — -

Tlo-Aitta
:;ﬁm :&CL R S g

X—7 Ax - (3y - XT-4)

L BXR ~ (3x = X3 W)
LRxA 4 xR — 3y g
x3- 3x -y '

X\lm) (\) X)- (x+y - ——7

"w-é/ ooy bdcgy




i\ e | Dafe
| e
N —

i Ux +3 (3x -By) ———
YT —

&_‘é\‘clﬁoﬁgélp) }/ -

|





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

